

**PROPERTY DETAILS REPORT** 

St. Louis County, Minnesota



		General Detail	S						
Parcel ID:	175-0071-01500								
Document:	Abstract - 1369720								
Document Date:	12/11/2019								
		Legal Description D	Details						
Plat Name:	MT IRON								
Section	Town	ship Rang	e	Lot Block					
14	58	3 18		-	-				
Description:	That part of SE1/4 of NE1/4 described as follows: Commencing at a point on shore of Parkdale Lake which is 220 feet North of the East Quarter Corner and 931.77 feet West at right angles to the East line of Section 14-58-18; thence Westerly in same direction 506 feet to a point; thence Southerly at an angle of 88deg42'20" a distance of 180.83 to a point; thence Easterly at an angle of 91deg32'35" a distance of 653 feet to a point on the shore of Parkdale Lake; thence Northwesterly along said shoreline with its varied distances and bearings to Point of Beginning; AND that part of SE1/4 of NE1/4 described as follows: Commencing at a point on the shore of Parkdale Lake which is 220 feet North of East Quarter Corner and 931.77 feet West at right angles to the East line of Section 14-58-18; thence Westerly in same direction 506 feet to a point; thence Northerly at an angle of 91deg17'40" a distance of 230.06 feet to a point; thence Easterly at an angle of 88deg42'20" a distance of 451 feet to a point on the shore of Parkdale Lake; thence Southerly along said shoreline by its varied distances and bearings to Point of section 14-58-18; thence Westerly in same direction 506 feet to a point; thence Northerly at an angle of 91deg17'40" a distance of 230.06 feet to a point; thence Easterly at an angle of 88deg42'20" a distance of 451 feet to a point on the shore of Parkdale Lake; thence Southerly along said shoreline by its varied distances and bearings to Point of Beginning. ** Also referred to as Lots 15 and 14 in UNRECORDED PLAT of PARKDALE FARMS **								
		Taxpayer Detai	ls						
Taxpayer Name	LAPATKA LYNN								
and Address:	8539 MUD LAKE	RD							
MT IRON MN 55768									
<b>A</b> N		Owner Details	<b>i</b>						
Owner Name	LAPATKA LYNN								
		Payable 2025 Tax Su	immary						
	2025 - Net Ta	ax		\$2,302.00					
	2025 - Special Assessments \$0.00								
	2025 - Tot	al Tax & Special Assessm	2,302.00						
		Current Tax Due (as of							
Due May 1	15	Due October 1	Total Due	Total Due					
Due may	15	Due October 1	5	Total Due					
2025 - 1st Half Tax	\$1,151.00	2025 - 2nd Half Tax	\$1,151.00	2025 - 1st Half Tax Due	\$1,151.00				
2025 - 1st Half Tax Paid	\$0.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$1,151.00				
2025 - 1st Half Due	\$1,151.00	2025 - 2nd Half Due	\$1,151.00	2025 - Total Due	\$2,302.00				
		Parcel Details	;						
Property Address:	8537 MUD LAKE	RD, MOUNTAIN IRON MN							
School District:	712								
	-								
Tax Increment District:									



## **PROPERTY DETAILS REPORT**





## Date of Report: 4/25/2025 5:11:44 PM

			Assessmer	nt Details (2	025 Payable	2026)		
Class Code (Legend)		nestead tatus	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity
201	1 - Owner H (100.00% to		\$55,400	\$167,100	\$222,500	\$0	\$0	-
801	0 - Non Homestead		\$0	\$0	\$0	\$0	\$0	-
207	207 0 - Non Homestead		\$17,500	\$27,900	\$45,400	\$0	\$0	-
Total			\$72,900	\$195,000	\$267,900	\$0	\$0	2528
				Land De	tails			
eeded Acres:	:	5.00						
laterfront:		MUD						
Vater Front Fe	et:	470.00						
/ater Code &	Desc:	P - PUBLIC						
as Code & De	esc:	-						
ewer Code &	Desc:	P - PUBLIC						
ot Width:		0.00						
ot Depth:		0.00						
he dimensions	s shown are n	ot guaranteed to be	survey quality.	Additional lot i	nformation can b	e found at		
ttps://apps.stlo	ouiscountymn.	gov/webPlatslframe	e/frmPlatStatPo	<mark>pUp.aspx</mark> . If th	ere are any ques	tions, please email	PropertyTax@st	louiscountymn.ge
			Impro	ovement 1 [	Details (DBL)			
Improveme	ent Type	Year Built	Main F	loor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement	Finish St	tyle Code & Des
MANUFACTURED 2002 HOME		1,512		1,512	U Quality / 0 Ft <sup>2</sup> DBL - DBI		DBL - DBL WIDE	
	Segment	Story	Width	Length	Area		Foundation	
	BAS	1	27	56	1,512	BASEMENT		
	DK	1	8	8	64	POST ON GROUND		כ
	DK	1	10	12	120	PC	OST ON GROUND	כ
Bath C	Count	Bedroom C	Count	Room Co	ount	Fireplace Coun	t	HVAC
2.0 BA	THS	3 BEDROO	OMS	-		-	RAL, PROPANE	
			Impr	ovement 2	Details (DG)			
Improveme	ent Type	Year Built	-		Gross Area Ft <sup>2</sup>	Basement	Finish St	tyle Code & Des
GARA	GE	0	8	88	888	-		DETACHED
	Segment	Story	Width	Length	Area		Foundation	
	BAS	1	24	37	888	F	LOATING SLAB	
			Improve	ement 3 De	tails (10x10S	т)		
Improveme	ent Type	Year Built	-		Gross Area Ft <sup>2</sup>	Basement	Finish St	tyle Code & Des
STORAGE B		2004		00	100	-		-
	Segment	Story	Width	Length	Area		Foundation	
	BAS	1	10	10	100	POST ON GROUND		- I
		1						·
Inc	mt T	Veen Derilt	-		s (OLD DGB	•	Finish 2	
		Year Built			Gross Area Ft <sup>2</sup>	Basement	rinish Si	tyle Code & Des
STORAGE B		0		20	320	-	<b>F</b>	
	Segment	Story	Width	Length	Area		Foundation	
	BAS	1	16	20	320		OST ON GROUND	



St. Louis County, Minnesota



	Im	orovemer	nt 5 Detai	Is (NOVALHO	USE)	
Improvement Type	Year Built	Main Flo	or Ft 2	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
STORAGE BUILDING	0	400		400	-	-
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	20	20	400	POST ON GF	ROUND
· · · · -		-		ails (OLDHOU	•	
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc
HOUSE	0	800	-	800	ECO Quality / 383 Ft <sup>2</sup>	
Segment	Story	Width	Length		Foundat	
BAS	1	2	16	32	CANTILE	
BAS	1	16	16	256	WALKOUT BA	
BAS	1	16	32	512	WALKOUT BA	
Bath Count	Bedroom Count		Room C	Count	Fireplace Count	HVAC
1.0 BATH	3 BEDROOMS		-		0	CENTRAL, GAS
	In	nproveme	ent 7 Det	ails (POLE BLI	DG)	
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc
POLE BUILDING	1981	3,36	60	3,360	-	-
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	42	80	3,360	FLOATING	SLAB
	Im	oroveme	nt 8 Deta	ils (OLD GARA	(GE)	J
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc
GARAGE	0	44(		440	-	DETACHED
Segment	Story	Width	-		Foundat	
BAS	1	20 22 440		FLOATING SLAB		
		-	(	-		
		-		etails (MTLSHI	•	
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc
STORAGE BUILDING	0	80		80	-	-
Segment	Story	Width	Length		Foundat	-
BAS	1	8	10	80	POST ON GF	ROUND
		mproven	nent 10 D	etails (MTLSH	D)	
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc
STORAGE BUILDING	0	70		70	-	-
Segment	Story	Width	Length	Area	Foundat	ion
_		7	10	70	POST ON GF	
BAS	1	1	10	10		
BAS			-			
	Im		nt 11 Det	ails (OLD HOU	JSE)	
Improvement Type	lm Year Built	proveme Main Flo	nt 11 Det	ails (OLD HOU Gross Area Ft <sup>2</sup>		Style Code & Desc
Improvement Type STORAGE BUILDING	Im Year Built 0	<b>proveme</b> Main Flo	nt 11 Det oor Ft <sup>2</sup>	cails (OLD HOU Gross Area Ft <sup>2</sup> 100	JSE) Basement Finish -	Style Code & Desc
Improvement Type STORAGE BUILDING Segment	Im Year Built 0 Story	proveme Main Flo 100 Width	nt 11 Det oor Ft <sup>2</sup> Length	ails (OLD HOU Gross Area Ft <sup>2</sup> 100 Area	JSE) Basement Finish - Foundat	Style Code & Desc -
Improvement Type STORAGE BUILDING	Im Year Built 0	proveme Main Flo 100 Width 10	nt 11 Det or Ft <sup>2</sup> D Length 10	<b>Gross Area Ft</b> <sup>2</sup> 100 <b>Area</b> 100	JSE) Basement Finish - Foundati POST ON GF	Style Code & Desc -
Improvement Type STORAGE BUILDING Segment BAS	Im Year Built 0 Story 0	proveme Main Flo 100 Width 10 Improve	nt 11 Det por Ft <sup>2</sup> Length 10 ment 12 l	ails (OLD HOU Gross Area Ft <sup>2</sup> 100 Area 100 Details (6X8 ST	JSE) Basement Finish - Foundat POST ON GF	Style Code & Desc - ion ROUND
Improvement Type STORAGE BUILDING Segment BAS Improvement Type	Im Year Built 0 Story 0 Year Built	proveme Main Flo 100 Width 10 Improve Main Flo	nt 11 Det oor Ft <sup>2</sup> Length 10 ment 12 I	ails (OLD HOU Gross Area Ft <sup>2</sup> 100 Area 100 Details (6X8 ST Gross Area Ft <sup>2</sup>	JSE) Basement Finish - Foundati POST ON GF	Style Code & Desc -
Improvement Type STORAGE BUILDING Segment BAS	Im Year Built 0 Story 0	proveme Main Flo 100 Width 10 Improve	nt 11 Det oor Ft <sup>2</sup> Length 10 ment 12 I	ails (OLD HOU Gross Area Ft <sup>2</sup> 100 Area 100 Details (6X8 ST Gross Area Ft <sup>2</sup> 48	JSE) Basement Finish - Foundat POST ON GF	Style Code & Desc ion ROUND Style Code & Desc



St. Louis County, Minnesota



	:	Sales Reported	to the St. Louis	County Auditor						
No Sales information reported.										
Assessment History										
Year	Class Code ( <mark>Legend</mark> )	Land EMV	Bldg EMV	Total EMV	Land B		Net Tax Capacity			
	201	\$55,400	\$133,000	\$188,400	\$0	\$0	-			
	801	\$0	\$0	\$0	\$0	\$0	-			
2024 Payable 2025	207	\$17,500	\$42,500	\$60,000	\$0	\$0	-			
	Total	\$72,900	\$175,500	\$248,400	\$0	\$0	2,338.00			
	201	\$72,900	\$175,600	\$248,500	\$0	\$0	-			
2023 Payable 2024	801	\$100	\$0	\$100	\$0	\$0	-			
Ŷ	Total	\$73,000	\$175,600	\$248,600	\$0	\$0	2,336.00			
	201	\$72,900	\$163,100	\$236,000	\$0	\$0	-			
2022 Payable 2023	801	\$100	\$0	\$100	\$0	\$0	-			
	Total	\$73,000	\$163,100	\$236,100	\$0	\$0	2,200.00			
	201	\$60,700	\$157,600	\$218,300	\$0	\$0	-			
2021 Payable 2022	801	\$100	\$0	\$100	\$0	\$0	-			
	Total	\$60,800	\$157,600	\$218,400	\$0	\$0	2,007.00			
Tax Detail History										
Tax Year	Тах	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Building MV	Total Ta	xable MV			
2024	\$2,304.00	\$0.00	\$2,304.00	\$68,536	\$165,089	\$233	3,625			
2023	\$2,246.00	\$0.00	\$2,246.00	\$67,958	\$152,042	\$220	0,000			
2022	\$2,346.00	\$0.00	\$2,346.00	\$55,808	\$144,899	\$200,707				

**Disclaimer:** St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.